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4,343.1 [ 21715 05
1-373 70 R3 R5 R3 R5 65.0 65.0 65.0 -
3568 150 R4 R5 R4 R5 13.0 13.0 13.0
22,636 R5 R5 R5 R5 90.0 90.0 90.0
572 H30 R4 R3 R4 394.2 394.2 394.2 -
845 RS R5 RS R5 20.0 20.0 20.0
448 R2 R5 R2 R5 13.0 13.0 13.0
1 H30 R4 H30 R5 6.0 6.0 6.0
450 H28 R4 H30 R5 2235 2235 2235
1-625 3 291 H28 R4 R2 RS 585 58.5 585
70 RS R5 RS R5 17.0 17.0 17.0
1,126 H30 R4 H30 R4 1,038.1 926.5 926.5
4,486 H29 R4 H30 R5 20674 18101 18101 1.35
1,084 H29 R4 H30 R5 499.6 4374 4374
45053 4,074.2 0.0 0.0 4,074.2 135
1 1 H30 30 H30 30 25 25 2.5
1 1 H30 H30 H30 H30 20.0 20.0 20.0
1 1 R2 R5 R2 R5 110.0] 110.0 110.0]
1 R2 R5 R2 R5 25.0 250 25.0
1 R3 R5 R3 R5 60.0 60.0 60.0
A=41 H30 R4 H30 R4 29.3 293 29.3
1 H30 R5 H30 R5 8.0 8.0 8.0
1 1 H30 H30 H30 H30 1.0 10 1.0
1 R2 R5 R2 R5 12.0 120 12.0]
1 1 R2 R5 R2 R5 1.1 11 1.1
268.9 268.9 0.0 0.0] 268.9]
(A+B) 4,343.1
5
0
5
L=3,300m H3 H30 63,000
A=16.6ha H3 H30 45612
1 10 A=0.16ha H28 R2 4,943
A=19ha H31 R6 40,700
A=1.0ha H31 R6 14,200
L=1,110m H31 R6 850
L=127m H31 R3 80
169,385
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